P9I bV bA—NLEIF—T - MEER

1

FHR

20
18
16
14
12
10

101%

19

201% 301% 401X 501%

0

601X 70k

2

£l

35

30

25

20

15

10

EElis

s

WRE

45
40
35
30
25
20
15
10

SIMLTED -7T=TITH?

40

0

Eh ot EbbELEALEW

0

S mh o7z




P9I bV bA—NLEIF—T - MEER

4 Bh-of-m (EHEZE)

35 33
30
25 23 21
19
20 16
15
10
5 1
0
_&%&4 /82&« s N s 5
5 5 o e & 5!
i ) A % R 2
A ) N -l 2 /
X N -4 » ® hal
g 4 g :) & i
N % s K U
0" X & o
7 “ -
5 &5
"G
BN
f

5 BHEA”LEEK

BAEDOEEKRL THAIWERLE LD ?

45
40
35
30
25
20
15

40

10
0 0

(= EBEBLELERRL LWz

6 tIf-—BOEM

CIF—EBIT, BEICHTEERELOLS ICEDY ELEA?

25
20
15
10
5
0 —
T @ > S
/44' S < &’; ﬁf\
7 5 A 7 <
@\‘ k%) & n ]
%0 By R ¢ &
T &> N Pl Nl
ol & X R 47
o’ A~ o v
~ 2
N )$</ o
ol @ &
. X 4
" N
" 2




